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O MECE-001 : ECONOMETRIC METHODS
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Note : Answer any two questions from Section A and any five

questions from section B.

SECTION-A
What do you understand by autocorrelation ? 20
What are the consequences of autocorrelation ?
How do you detect autocorrelation in a data set ?
Explain the steps you would follow to remove the
problem of autocorrelation.

Consider the regression equation yi = a + pxi + ui 20
where ui is a stochastic error term.

Explain the need of including the ui in the

model.

What assumptions regarding the error term
are needed to prove the Gauss - Markov
theorem ?

(c) Prove the Gauss-Markov theorem for the
estimator of p.
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3.	 Consider the regression model 	 20

Pi ± 13 2X2	 133x3

where u follows N (0, o2).
A sample of 25 was taken for estimation of the
model.

Explain the OLS method for estimation of
the Parameters.

Suppose you have to test the hypothesis that
[32 =133 = 0. How will you test it ?

(c) Explain how you will test the significance
of 132 and 133 separately ?

	

4.	 Suppose I took up a survey on spending pattern 	 20
of call centre employees and found that monthly
expenditure (as a proxy for spending pattern) of
employees depends upon income, education level

and number of dependents. I suspected that their
spending pattern may be influenced by the shift
(morning, afternoon and night) in which they are
working.

Explain how to formulate the above
model ?

Explain how to test the hypothesis that
working time (shift) does not affect
spending pattern ?
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SECTION-B

What is meant by heteroscedasticity ? Explain 12

one of the remedial measures for the problem of
heteroscedasticity.

What is meant by dynamic model ? Explain how 12
the following model can be estimated ?

r	 + 13x t ± "YYt-i ±ut
where 1-1'1<1 and ut P ut--1±nt. In the above

model n t is distributed independent, normal with
mean zero and variance cr2 and PI <1.

What is meant by indirect least squares (ILS) 12

method ? Explain how the following model can
be estimated using this method ?

Demand function : Qt=ao+ajPt+ a2xt+ uit
Supply function : Q t =130 + P l P t +142t

Where Q= quantity, P = price and X = income

Explain the steps followed in estimation of 12

parameters through the method of Generalised
least squares (GLS).

9.	 Consider the Cobb-Douglas production function 12

y = R1 032 K P3 where y, L and K are output, labour
and capital respectively. Explain how the above
function can be estimated ?
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Explain the concept of multicollinearity. What 12
are its consequence on estimates ? What remedial
measures would you suggest for the problem of
multicollinearity ?

Outline the steps you would follow in principal 12
components analysis.

12. Write a short note on the identification problem 12
in simultaneous equation models.
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3.	 TrRrwri3T Hisc.,f	 faq7	 :	 20

y = p i + p2x2 + p3x3+u

ti, N (0, cr2)	 3T j7:177	 t I	 Hisc1t 3TE

fc-R 25 -T 1;ff-d	 f ziT + Rif t I
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(c)	 TTE	 31-Fr 132	 p3

LR qur 3-T-d-Tr-31.--d-rr
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